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Note : Answer questions from all Sections as per 

instructions given in each Section.   

 Section—A 

Note : Answer any two questions from this 

Section in about 500 words each. 2×20=40 
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1. Describe the causes of inflation. In this 

context, distinguish between demand-side 

and supply-side inflation. What leads to 

wage-price spiral ? 

2. Define consumption function. Bring out its 

properties. Explain how changes in 

consumption leads to changes in Aggregate 

Demand (AD). 

3. Derive the LM curve. What does a point on 

the LM curve imply ? What are the factors 

that influence the LM curve ? 

4. In a three-sector economy, explain  

how the monetary flows and real flows take 

place.  
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 Section—B 

Note : Answer any four questions from  

this Section in about 250 words  

each. 4×12=48 

5. Bring out the inter-relationships among 

various macroeconomic aggregates. In this 

context, can the Gross National Product 

(GNP) of a country be less than its Gross 

Domestic Product (GDP) ? 

6. What are the various measures of money 

supply ? Describe the functions of money. 

7. Describe the types of demand for money, as 

suggested by Keynes. Why does the money 

demand function slope downward ? 
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8. Explain diagrammatically how government 

expenditure and taxes influence equilibrium 

output level in an economy. 

9. In the IS-LM model, explain how the economy 

moves to equilibrium automatically. 

10. Distinguish between Microeconomics and 

Macroeconomics. Why is macroeconomics an 

important branch of study ? 

11. Explain how national income can be 

measured by the product method. What 

precautions should we take while using this 

method ? 

Section—C 

12. Write short notes on any two of the following 

in about 100 words each : 2×6=12 

(a) Balance of  Payments 
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(b) Functions of Central Bank 

(c) Repo Rate and Reverse Repo Rate 

(d) Say’s Law of Market 
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ch- ,- (vkWulZ) vFkZ'kkò  

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&103 % ifjp;kRed lef"V  

vFkZ'kkò 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh Hkkxksa eas ls iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A 

 Hkkxµd  

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj yxHkx 500 'kCnksa esa 

nhft,A  2×20=40 
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1- eqækLQhfr ds dkj.kksa dk o.kZu dhft,A bl lanHkZ esa ek¡x 

i{k eqækLQhfr vkSj iw£r i{k eqækLQhfr ds  

chp varj Li"V dhft,A eqæk&dher tky D;ksa mRiUu 

gksrk gS \ 

2- miHkksx Qyu dks ifjHkkf"kr dhft,A bldh fo'ks"krk,¡ 

Li"V dhft,A O;k[;k dhft, fd fdl izdkj miHkksx esa 

ifjorZu] lexz ek¡x (AD) esa ifjorZu ykrk gSA 

3- LM oØ dh O;qRifÙk dhft,A LM oØ ij dksbZ ¥cnq 

D;k n'kkZrk gS \ os dkjd dkSu&ls gSa tks LM oØ dks 

izHkkfor djrs gSa \ 

4- ,d f=&{ks=h; vFkZO;oLFkk esa] le>kb, fd ekSfæd izokg 

vkSj okLrfod izokg fdl izdkj gksrs gSaA 
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Hkkxµ[k 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj yxHkx 250 'kCnksa esa 

nhft,A  4×12=48 

5- fofHkUu lef"Vxr vk£Fkd leqPp;ksa ds chp varlaca/k 

Li"V dhft,A bl lanHkZ eas D;k ,d ns'k dk ldy jk"Vªh; 

mRikn (GNP)] mlds ldy ?kjsyw mRikn (GDP) ls de 

gks ldrk gS \ 

6- eqæk iw£r ds fofHkUu eki D;k gSa \ eqæk ds dk;ks± dk o.kZu 

dhft,A 

7- dsUt+ ds }kjk lq>k, x, eqæk dh ek¡x ds izdkjksa dk o.kZu 

dhft,A eqæk dk ek¡x Qyu v/kkseq[kh (uhps dh vksj) 

<yku okyk D;ksa gksrk gS \ 
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8- js[kkfp= dh lgk;rk ls le>kb, fd ,d vFkZO;oLFkk esa 

ljdkjh O;; vkSj dj larqyu mRikn dks dSls izHkkfor 

djrs gSaA 

9- IS-LM ekWMy esa] vFkZO;oLFkk Lo;a (Lopkfyr :i ls) 

lkE;koLFkk (larqyu) esa dSls igq¡p tkrh gS] Li"V 

dhft,A 

10- O;f"V vFkZ'kkL= vkSj lef"V vFkZ'kkL= esa varj Li"V 

dhft,A lef"V vFkZ'kkL= ds v/;;u ds fy, egRoiw.kZ 

'kk[kk D;ksa gS \ 

11- O;k[;k dhft, fd fdl izdkj mRikn  

fof/k ls jk"Vªh; vk; dks ekik tk ldrk gSA  

bl fof/k dk mi;ksx djrs le; gesa D;k lko/kkfu;k¡ 

cjruh pkfg, \ 
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Hkkxµx 

12- fuEufyf[kr esa ls fdUgha nks ij yxHkx 100 'kCnksa esa 

laf{kIr fVIif.k;k¡ fyf[k, % 2”6¾12 

(v) Hkqxrku 'ks"k 

(c) dsUæh; cSad ds dk;Z 

(l) jsiks nj vkSj foijhr jsiks nj 

(n) cktkj dk ^ls* dk fu;e 

× × × × × 

 

 

 

 

 

 

 

 


